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i2x+p]-2(x-"p)

1 a | TLIST41734 Bl
b | T176 orthew (FLAS7AI7F20 451 Bl orFT
2 la [30005 =40 Bl
[ Lrnount of dnnks needed = 40 2 300 il
=12000 mi
=121
Fibena concentrated needed = 125 =241
Ivlore than 2 1.
Caden is right &1
B2 are must be shown,
0 if no arcis showr.
Otherwise Bl for comrect 0C =2 cmor B2 =8 cm.
B | 90 accept 9 10 91 Bl
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=dr+y-Zr+dy Ml
= 5y Al
| SEan
304
Ex 43
= xu - M1
il i
12
El
a | The vertical axiz did not start from zero. Bl
h The decrease will be magnified. Bl
a | There is waseing data for some wears, 2015 | Bl
ancd 2020
b | There iz unee rainty conld be dherease or Bl
decreaze that were not known
a ﬂ_—lD+9 Ml
T -10-9
@= L Al
19
LI P Ty Ml
=3 Al
A IR0 El
h |fx=1 Bl
c o M1
4
1 4l
Cr
5-2 M1
-2-4
oy 3, Al
2
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i
Conesponding angles or corr &

180 - 77 - 63
=40

Anzle sum of & triangle or ~ sumoof'a A

2x+4l _x

4 7
Adx 4+ =dx
Br+3=dx
Gr—dx=-3
2r=-3

-3 1
i in t-1-and-15
X 5 accep 5

10

LFREC=180-72=108 *

(A djacent angles on & straight line)
LFFCI= 1087

fvertical opposite angles)

Therefore £ FEC = £ FEC

Irnplies opposite angles in a parallelogram
Then maplies BCGEF 15 a parallelograrm,

11

2004 =PFr3x1E
Aoceptd a2 xdx 3Ixll

o9

n,
40

12

I

Tm{ Bm= 1)+ 25(1= 21
= Gm(Im 11— 20 dm-1)
={3m= 283 Im=1)

13

1Z24E8 H23+ 90 +x =31 120
x= 107
Otherwise s of interior angles = 540 Tvll

Sum of interion
anoles = 54{1°

9 units = 150

1 unit =20

Exterior angle = 20°
n= 360020 = 18

14

27

T+

Bl

T+4an=101
F=235 1z not an mteger, whole nurnber

Bl

15 [a |24km=2400m Either M1
10 1in =600
24000600 = 4 mis Al
B | 10 k= 10000 m
1h=73600s M1
10000/3600 = 2,78 m/s M1
John is faster Al
16 3e-b 3a-2
4 &
_ 33a-b)-23a-28) M2
12
=9a—3§:—rﬂa+4& Ml
12
_Zath Al
Tz
Or
3a-b Ga-2b
4 3
_ fi{3e <B) = (32 - 20} M1
24
18- 65 =122 +8b
SR W M1
24
_ fa+2b Lk
=
_Za+h Al
12
e |i2,0) Bl
d [v=13 Bl
18 |a | 24000 15000 = Fo000 Bl
b | Total= %6000 M1
36000
Sgnng <360= 135 Al
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10 o BL
2x+3x 10
S ML
Al
Ml
Al
5x 430 =370
x=3401 5 = 68 Al
20 12x 3 M1
= 50 Al
%xu =204 ML
wH22=134
x=12
Al

21 |a M1
Al
2] Fateder of daye with 2 meals =341 +4 Al
+eHd= 16
Fareber of daye with 1 meal=4 or
Total number of meals = 16 % 2 +4
=136 L1 |
Al
(2} | Bin Sracnt of monesy= 362 3 M1
=10z
$210- $102
=§102 M1
VeE the concept of
A1 total pocket
Al minus fotal

arnount on food

vl
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Q21 Case A Case B Case C Case D
Pocket money $210 2 | $200 x 0 |$210Y 2 | $210 W 2
Total number of | 36 2367 2 | Number of days | Number of days
meals with 2 meals = with 2 meals =
16 17
Number of days | Number of days
with 1 meals =5 | with 1 meals =4
16 x2 +5 17 x2 +4
=37 1 | =38 1
Save $100 Min amount = Min amount = Min amount = Min amount =
36x5=180ml |[36x3=108ml |37x3=111ml |38x3=114ml
$210- $180 m1 | $200 — $108 m1 | $210 —$111 m1 | $210 — $114 m1
=$30 m1 =$72 m1 =$99 m1 =$96 m1
No Al 4 [ NoAl 4 | NoAl 4 | yes Al 3
Full 8 marks 6 marks 7 marks 6 marks
Q21 Case E Case F Case G
Pocket money $200 x 0. [$210 2 | $210 2
Total number of | Number of days | 36 2421x2
meals with 2 meals = =42 x
17
Number of days
with 1 meals =5
172 +3
=39 0 0
Save $100 amount =39 x 5 | amount =20x3 | amount =4 42 x
=ho5'ml =60 ml 5=210ml
$200- $195 m1 10 x5 =50ml $210 - $210 m1
=$5 ml 6x8 =48ml =$0 m1
No Al 4 | Expenditure No Al 4
=$159
$210=$159 m1
=$51ml
No Al 4
4 marks Full 8 marks 6 marks
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